
SM3H 4.4 odd answers 

1.  
1

4
 

3.  
2

3𝑏
 

5.  
𝑥2−𝑥−4

𝑥(𝑥+2)(𝑥2−2𝑥−1)
 

7a.  -1 

7b.  -1 

7c.  8 

7d.  0 

7e.  8 

7f.  -7 

9a.  ℎ(𝑥) = 3𝑥 − 1         Domain = (−∞, ∞) 

9b.  ℎ(𝑥) = 3𝑥 + 1         Domain = (−∞, ∞) 

9c.  ℎ(𝑥) = 9𝑥 + 8         Domain = (−∞, ∞) 

9d.  ℎ(𝑥) = 𝑥 − 2         Domain = (−∞, ∞) 

11a.  ℎ(𝑥) =
1

√𝑥−1
     Domain = [0, 1) ∪ (1, ∞) 

11b.  ℎ(𝑥) = √
1

𝑥−1
        Domain = (1, ∞) 

11c.  ℎ(𝑥) =
𝑥−1

−𝑥+2
    Domain =(−∞, 1) ∪

(1, 2) ∪ (2, ∞) 

11d.  ℎ(𝑥) = √√𝑥  or  √𝑥4   or  𝑥
1

4     Domain = 

[0, ∞) 

13.   √73 

15.  2 

17.  0 

19.  𝑇 = ±2𝜋√
𝑙

𝑔
 

 

 

 


